(m 0.39 | 0.40 | 0.54 | 0.61 | 0.46 | 0.42 | 0.88 | 0.50 | 0.44 | 0.76 | 0.80 | 0.48 —
7.2 7.3 7.2 7.2 7.3 7.2 7.5 7.6 7.4 7.4 7.4 7.3 6.5 8.5 6.0 8.5
(mg/0)| 5.4 5.4 4.5 7.8 5.3 5.7 5.6 8.9 6.0 5.1 2.5 6.8 5 2
(mg/0)| 6.2 5.8 9.5 3.9 5.5 4.7 8.4 5.3 6.0 5.5 7.5 4.5 — —
mg/ry | 7.4 6.9 10 4.3 6.6 5.0 12 5.3 6.5 5.6 8.0 4.7 5 10
(mg/0)| 6.2 6.2 12 4.5 5.7 5.7 7.1 5.7 7.2 5.8 7.0 5.4 — —
(mg/0y| 19 20 12 8 17 19 6 19 15 6 5 15 50
(MPN/100m?) 1.8%10M | 3.1>10"5 — —
- (mg/0)| 0.5 0.5 0.6 0.5 0.5 0.5 0.6 0.5 ND 0.6 0.6 0.5 —
(mg/ 1) 5.9 5.8 _
(mg/ 1) 0.23 | 0.39 _
(mg/¢) | 0.010 | 0.010 | 0.007 | 0.013 | 0.008 | 0.010 | 0.007 | 0.010 | 0.009 | 0.049 | 0.005 | 0.005 —
(mg/ 1) <0.001 | <0.001 0.01
(mg/ 1) ND ND ND (\D)
(mg/ 1) <0.001 | <0.001 0.01
(mg/ 1) <0.005 | <0.005 <0.005 0.05
(mg/ r) 0.001 | <0.001 0.01
(mg/ 1) <0.0005 |<0.0005 0.0005
(mg/ 0) (\D)
(mg/ () ND ND (\D)
(mg/¢) | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | 0.002 | <0.002 | <0.002 0.02
(mg/ ¢) [<0.0002 |<0.0002 | <0.0002 |<0.0002 |<0.0002 | <0.0002 |<0.0002 |<0.0002 |<0.0002 |<0.0002 |<0.0002 | <0.0002 0.002
1,2- (mg/ ¢) [<0.0004 |<0.0004 |<0.0004 | 0.0005 |<0.0004 | 0.0008 |<0.0004 |<0.0004 | 0.0012 |<0.0004 |<0.0004 |<0.0004 0.004
1,1- (mg/¢) | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 0.02
-1,2- (mg/¢) | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 0.04
1,1,1- (mg/ ¢) {<0.0005 | <0.0005 | <0.0005 |<0.0005 |<0.0005 |<0.0005 |<0.0005 |<0.0005 |<0.0005 |<0.0005 |<0.0005 |<0.0005 1
1,1,2- (mg/ ¢) {<0.0006 | <0.0006 | <0.0006 |<0.0006 |<0.0006 | <0.0006 |<0.0006 |<0.0006 | <0.0006 |<0.0006 |<0.0006 |<0.0006 0.006
(mg/¢) | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 0.03
(mg/ ¢) [<0.0005 |<0.0005 |<0.0005 | 0.0005 |<0.0005 | 0.0008 |<0.0005 |<0.0005| 0.0011 |<0.0005 |<0.0005 |<0.0005 0.01
1,3- (mg/ ¢) [<0.0002 | 0.0002 |<0.0002 |<0.0002 | 0.0002 | 0.0002 |<0.0002 |<0.0002 |<0.0002 |<0.0002 |<0.0002 |<0.0002 0.002
(mg/ ) |<0.0006 <0.0006 |<0.0006 0.006
(mg/ ) [<0.0003 <0.0003 |<0.0003 0.003
(mg/7) | <0.002 <0.002 | <0.002 0.02
(mg/¢) | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 0.01
(mg/ 1) <0.001 | <0.001 0.01
(mg/ 1) 3.3 3.4 10
(mg/ 1) 0.10 | 0.09 0.8
(mg/ 7) 0.13 | 0.04 1




(mg/ ) <0.005 | <0.005
(mg/ ) <0.01 | <0.01
(mg/ 1) 0.1 0.1
(mg/ 1) 0.11 | 0.10
(mg/ ) <0.01 | <0.01
(mg/0)| 1.8 1.7 1.8 1.0 1.6 1.9 2.0 0.8 2.8 2.6 3.9 0.7 —
(mg/ 1) 0.21 | 0.23 _
(mg/ 1) 3.1 3.2 _
(mg/ r) 0.15 | 0.25 —
(mS/my | 55 47 53 140 47 170 38 40 110 36 38 33 —
(mg/ 1) 300 130 _
(mg/0)| 95 70 74 350 60 460 23 49 270 30 27 27 —
(mg/¢)| ©0.08 | 0.07 | 0.12 | 0.03 | 0.08 | 0.06 | 0.12 | 0.14 | 0.06 | 0.18 | 0.34 | 0.06 —
(mg/¢) | <0.006 | 0.006 | <0.006 | <0.006 | 0.006 | <0.006 | 0.012 | <0.006 | <0.006 | <0.006 | <0.006 | <0.006 0.06
-1,2- (mg/¢) | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 0.04
1,2- (mg/¢) | <0.006 | <0.006 | <0.006 | <0.006 | <0.006 | <0.006 | <0.006 | <0.006 | <0.006 | <0.006 | <0.006 | <0.006 0.06
p- (mg/?¢) | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 0.3
(mg/¢) |<0.0008 <0.0008 |<0.0008 0.008
(mg/¢) |<0.0005 <0.0005 |<0.0005 0.005
(mg/¢) |<0.0003 <0.0003 |<0.0003 0.003
(mg/ ) | <0.004 <0.004 | <0.004 0.04
(mg/ ) | <0.004 <0.004 | <0.004 0.04
(mg/ ) | <0.005 <0.005 | <0.005 0.05
(mg/¢) |<0.0008 <0.0008 |<0.0008 0.008
(mg/¢) |<0.0006 <0.0006 |<0.0006 0.006
(mg/¢) |<0.0008 <0.0008 |<0.0008 0.008
(mg/ ) | <0.003 <0.003 | <0.003 0.03
(mg/7) |<0.0008 <0.0008 |<0.0008 0.008
(mg/¢) |<0.0001 <0.0001 |<0.0001 —
(mg/¢) | <0.06 | <0.06 | <0.06 | <0.06 | <0.06 | <0.06 | <0.06 | <0.06 | <0.06 | <0.06 | <0.06 | <0.06 0.6
(mg/¢) | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 0.4
(mg/ 1) <0.006 | <0.006 0.06
(mg/ 1) 0.005 | 0.003 _
(mg/ 1) <0.007 | <0.007 0.07
(mg/ 1) <0.002 | <0.002 _




